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IGCSE (9 – 1) Revision Pack

Gradients of a straight lines and Coordinates



Name --------------------------------
Questions

Q1.
 
The diagram shows the straight lines AB and BC drawn on a centimetre grid.
[image: ]
(a)  Write down the coordinates of
(i)  C
 ( ................ , ................ ) 
(ii)  B
 ( ................ , ................ ) 
(2)
(b)  On the grid, mark the point D so that ABCD is a kite.
(1)
(c)  Work out the gradient of AB.






 ........................................................... 
(2)
 
(Total for question = 5 marks)
 



Q2.
 
On the grid, draw the graph of y = 3x − 5 for values of x from −2 to 3





[image: ]
 
(Total for question = 4 marks)
 



Q3.
 
On the grid, draw the graph of y = 1 – 3x for values of x from –2 to 3
[image: ]
 
(Total for question = 3 marks)
 



Q4.

The diagram shows a trapezium PQRS and a line AB on a centimetre grid.
[image: ]
(a) Measure the length of RS. 
Give your answer in millimetres.
........................................................... mm
(1)
(b) Write down the coordinates of Q.
(.............................. , ..............................)
(1)
(c) Write down the equation of the line AB.
...........................................................
(1)
(d) Reflect the trapezium PQRS in the line AB.
(2)

(Total for question is 7 marks)



Q5.
 
Here are three straight lines A, B and C drawn on a grid.
[image: ]
Write down an equation for each of these three straight lines.


A..........................................................
B..........................................................
C..........................................................
  
(Total for question = 3 marks)


Q6.

The diagram shows three points P, Q and R on a 1 cm grid.
[image: ]
(a) Write down the coordinates of P.

(.............................. , .............................)
(1)
(b) Write down the coordinates of Q.

(.............................. , .............................)
(1)
(c) On the grid, mark the point S so that PQRS is a rhombus.
(1)
(d) Work out the area of the rhombus PQRS.




........................................................... cm2
(2)
(e) Write down the equation of the line PR.


...........................................................
(1)

(Total for question = 6 marks)


Q7.

On the grid, draw the graph of y = 2x − 1
[image: ]








(Total for question = 4 marks)
Q8.

The diagram shows three points, A, B and C, on a centimetre grid.
[image: ]

(a) Write down the coordinates of
(i) A,
(............................. , ..............................)
(ii) B.
(............................. , ..............................)
(2)
(b) (i) On the diagram, mark with a cross (×) the point D so that ABCD is a rectangle. 
Label your point D.
(ii) On the diagram, draw rectangle ABCD.
(2)
(c) Write down the order of rotational symmetry of rectangle ABCD.
...........................................................
(1)
(d) Find the coordinates of the midpoint of AB.
(............................. , ..............................)
(2)
(Total for question = 7 marks)

Q9.
 The diagram shows a quadrilateral PQRS on a centimetre grid.
[image: ]
(a)   Write down the coordinates of R.
(........................................................... , ...........................................................)
(1)

(b)   Write down the coordinates of P.



(........................................................... , ...........................................................)
(1)

(c)   What is the mathematical name of the quadrilateral PQRS?



...........................................................
(1)

(d)   Measure the length of the side PQ. 
Give your answer in centimetres to 1 decimal place.



........................................................... cm
(1)

(e)   Find the perimeter of the quadrilateral PQRS. 
Give your answer in centimetres to 1 decimal place.



........................................................... cm
(2)

(f)   Work out the area of the quadrilateral PQRS.









........................................................... cm2
(2)

(Total for Question is 8 marks)



Q10.

A 6-sided polygon is shown on a grid.

[image: ]
(a) Write down the mathematical name for a 6-sided polygon.
...........................................................
(1)
(b) On the polygon, mark with arrows (>) a pair of parallel lines.
(1)
(c) On the polygon, mark with crosses (×) a pair of perpendicular lines.
(1)
(d) Write down the coordinates of the point A.

(.............................. , ..............................)
(1)
(e) Find the coordinates of the midpoint of AB..


(.............................. , ..............................)
(2)

(Total for question = 6 marks)

Q11.
 
The diagram shows points A, B and C on a square grid.
[image: ]
(a)  Write down the coordinates of C.
 ( ................ , ................ ) 
(1)
(b)  Measure the length of BC.
Give your answer in centimetres.
 ........................................................... cm
(1)
(c)  On the grid, mark with a cross [image: ] the point D so that ABCD is a parallelogram.
Label this point D.
(1)
 
(Total for question = 3 marks)
 


Q12.
 
The diagram shows three points P, Q and R on a centimetre grid.
[image: ]
(a)  Write down the coordinates of R.



(........................... , ...........................)
(1)

(b)  Measure the distance between P and R. 
Give your answer in millimetres.




........................................................... mm
(1)
(c)  On the diagram, mark with a cross (×) the position of the point S so that PQRS is a rectangle. 
Label your point S.
(1)

(d)  Find the coordinates of the midpoint of PQ.





(........................... , ...........................)
(2)

 
(Total for question = 5 marks)
 



Q13.
 
(a)  Complete the table of values for y = 3x – 1
[image: ]



(2)
(b)  On the grid, draw the graph of y = 3x – 1 for values of x from –1 to 6
[image: ]
(2)
 
(Total for question = 4 marks)
 



Q14.
 
The diagram shows a 5-sided polygon ABCDE drawn on a centimetre grid.
[image: ]
(a)  Write down the coordinates of the point A.


 ( ................ , ................ ) 
(1)
(b)  Write down the coordinates of the point C.


 ( ................ , ................ ) 
(1)
(c)  Write down the mathematical name for a 5-sided polygon.



 ........................................................... 
(1)
(d)  Measure the length of the line AB. 
       Give your answer in centimetres to 1 decimal place.



 ........................................................... cm
(1)
(e)  Measure the size of the angle marked x.



 ........................................................... °
(1)
 
(Total for question = 5 marks)
Q15.
 
B is the point with coordinates (1, 4) 
C is the point with coordinates (6, 9)
Find the coordinates of the midpoint of BC.




(........................... , ...........................)
 
(Total for question = 2 marks)
 


Q16.
 
Point A has coordinates (−4, 9) 
Point B has coordinates (1, 5)
Find the coordinates of the midpoint of AB.










 ( ................ , ................ ) 
 
(Total for question = 2 marks)
 



Q17.

On the grid, draw the graph of y = 4x −1 from x = −2 to x = 4











[image: ]

(Total for question is 4 marks)



Q18.
 
The diagram shows a quadrilateral PQRS drawn on a centimetre grid.
[image: ]
(a)  Write down the mathematical name of the quadrilateral PQRS.
...........................................................
(1)
(b)  Measure the length of PQ.
Give your answer in millimetres.
........................................................... mm
(1)
(c)  Write down the coordinates of
(i)  the point P, 
(........................... , ...........................)
(ii)  the point Q. 
(........................... , ...........................)
(2)
(d)  On the quadrilateral PQRS, draw the line of symmetry.
(1)
(e)  Work out the area of the quadrilateral PQRS.
........................................................... cm2
(2)
 
(Total for question = 7 marks)
 



Q19.
 
The diagram shows triangle ABC drawn on a centimetre grid.
[image: ]
(a)  Write down the coordinates of the point B.
(.......................... , ..........................)
(1)
(b)  Measure the length of the line AC.
Give your answer in millimetres.
........................................................... mm
(1)
(c)  Find the area of triangle ABC.
........................................................... cm2
(2)
D is the point such that ABCD is a trapezium with AD = 3 cm.
(d)  On the grid, mark with a cross (×) the position of the point D
Label your point with the letter D.
(1)
 
(Total for question = 5 marks)
 



Q20.
 
The diagram shows quadrilateral ABCD on a centimetre grid.
[image: ]
(a)   Write down the coordinates of the point A.
(........................................................... , ...........................................................)
(1)

(b)   Write down the coordinates of the point B.
(........................................................... , ...........................................................)
(1)

(c)   Write down the mathematical name for quadrilateral ABCD.
...........................................................
(1)

(d)   (i) Measure the size of angle BAD.
........................................................... °
(ii) Write down the mathematical name for this type of angle.
...........................................................
(2)

(e)   Work out the area of quadrilateral ABCD.
........................................................... cm2
(2)

(Total for Question is 7 marks)



Q21.
 
The point A has coordinates (5, −4) 
The point B has coordinates (13, 1)
(a)  Work out the coordinates of the midpoint of AB.










 ( ................ , ................ ) 
(2)
Line L has equation y = 2 − 3x
(b)  Write down the gradient of line L.





 ........................................................... 
(1)
Line L has equation y = 2 − 3x
(c)  Does the point with coordinates (100, −302) lie on line L? 
You must give a reason for your answer.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
(1)
 
(Total for question = 4 marks)
 



Q22.

The diagram shows a parallelogram PQRS drawn on a centimetre grid.
[image: ]

(a) Measure the length of PQ.
........................................................... cm
(b) Write down the coordinates of the point R.
(...................., .......................................)
(1)
(c) Work out the area of the parallelogram PQRS. 
Give the units of your area.
........................................   ..............................................................................
(3)

(Total for question = 5 marks)


Q23.

Two points, A and B, are plotted on a centimetre grid.
 A has coordinates (1, 4) and B has coordinates (8, 2).
[image: ]

(a) Work out the coordinates of the midpoint of AB.
(.............................. , ..............................)
(2)
(b) Use Pythagoras' Theorem to work out the length of AB.
Give your answer correct to 3 significant figures.




............................................................cm
(4)

(Total for question = 6 marks)


Q24.
 
The diagram shows a quadrilateral on a square grid.
[image: ]

(a)  What is the mathematical name for this quadrilateral?

...........................................................
(1)

(b)  On the quadrilateral, draw its line of symmetry.
(1)

(c)  Write down the coordinates of the point P.

(............................... , ...............................)
(1)

The size of the angle at P is 90°

(d)  Write down the mathematical name for an angle of 90°
...........................................................
(1)
(Total for Question is 4 marks)
Q25.

The diagram shows a shape drawn on a centimetre grid.
[image: ]
(a) On the shape, mark with crosses (×) a pair of perpendicular lines.
(1)
(b) On the shape, mark an obtuse angle. 
Label your angle A.
(1)
(c) Write down the coordinates of the point P.
(.............................. , ..............................)
(1)
(d) Write down the equation of the line PQ.

............................................................
(1)
(e) Find the area of the shape. 
Give the units of your area.


............................................................
(3)

(Total for question = 7 marks)



Q26.
 
On the grid, draw the graph of y = 3x + 2 for values of x from −2 to 4






[image: ]

  
(Total for question = 4 marks)



Q27.
 
The diagram shows a quadrilateral ABCD on a grid.

[image: ]

(a)  Write down the coordinates of the point

(i)  B
(............................. , .............................)
(ii)  D
(............................. , .............................)
(2)

(b)  Write down the mathematical name for the quadrilateral ABCD.



...........................................................
(1)

(c)  (i)  Write down the mathematical name for the angle marked x.



...........................................................

(ii)  Measure the size of the angle marked x.

........................................................... °
(2)
  
(Total for question = 5 marks)
Q28.
 
The diagram shows a quadrilateral ABCD drawn on a coordinate grid.
[image: ]
(a)  Write down the coordinates of point B.

 ( ................ , ................ ) 
(1)
(b)  Write down the mathematical name of quadrilateral ABCD.


 ........................................................... 
(1)
(c)  On the quadrilateral, mark with arrows (>>) a pair of parallel lines.
(1)
(d)  On the diagram, mark an obtuse angle with the letter T.
(1)
 
(Total for question = 4 marks)
 



Q29.
 
The diagram shows a quadrilateral ABCD on a centimetre grid.

[image: ]

(a)  Write down the coordinates of
(i)  point B,

(........................... , ...........................)

(ii)  point D.

(........................... , ...........................)
(2)

(b)  Write down the equation of the line AB.





...........................................................
(1)

(c)  Work out the area of quadrilateral ABCD.





........................................................... cm2
(1)

 
(Total for question = 4 marks)
 


Q30.
 
The diagram shows a quadrilateral ABCD on a centimetre grid.
[image: ]
(a)  Write down the coordinates of

(i)  C



(........................... , ...........................)

(ii)  B



(........................... , ...........................)
(2)

(b)  Write down the mathematical name for the quadrilateral ABCD





...........................................................
(1)

(c)  Write down the order of rotational symmetry of the quadrilateral ABCD





...........................................................
(1)



(d)  Work out the area of the quadrilateral ABCD










........................................................... cm2
(2)

(e)  Find the coordinates of the midpoint of AC





(........................... , ...........................)
(2)

 
(Total for question = 8 marks)
 



Q31.
 
[image: ]
(a)  Write down the coordinates of point B.
 ( ................ , ................ ) 
(1)
(b)  On the grid, mark with a cross [image: ] the point with the coordinates (−4,1)
Label the point P.
(1)
C is a point so that angle ACB is a right angle.
(c)  Find the coordinates of a possible position for C.
 ( ................ , ................ ) 
(2)
 
(Total for question = 4 marks)
 



Q32.
 
The diagram shows triangle ABC drawn on a centimetre grid.
[image: ]
(a)  Write down the coordinates of point A.





(........................... , ...........................)
(1)

(b)  Reflect triangle ABC in the x-axis.
(1)

(c)  Work out the area of triangle ABC. 
You must include the units with your answer.










......................................   ................
(2)

 
(Total for question = 4 marks)
 Q33.
 
On the grid, draw the graph of y + 2x = 6 for values of x from –2 to 4




[image: ]
 
(Total for question = 4 marks)
 



Q34.
 
On the grid, draw the graph of y = 3x + 2 for values of x from −2 to 4









[image: ]





  
(Total for question = 4 marks)



Q35.
 
[image: ]
(a)  Write down the coordinates of point A.
 ( ................ , ................ ) 
(1)
(b)  Plot the point (−4,−3)
Label your point B.
(1)
(c)  On the grid, draw the line with equation    x = 3
(1)
 
(Total for question = 3 marks)
 



Mark Scheme

Q1.
 
[image: ]
 


Q2.
 
[image: ]
[image: ]
[image: ]
 


Q3.
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Q4.
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Q5.

[image: ]


Q6.

 
[image: ]


Q7.

 
[image: ]



Q8.

 
[image: ]


Q9.
 
[image: ]



Q10.

[image: ]


Q11.
 
[image: ]
 



Q12.
 
[image: ]
 


Q13.
 
[image: ]
[image: ]
 



Q14.
 
[image: ]
 


Q15.
 
[image: ]
 


Q16.
 
[image: ]
 


Q17.

[image: ]


Q18.
 
[image: ]
 


Q19.
 
For all questions, the correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
[image: ]
 


Q20.
 
[image: ]



Q21.
 
[image: ]
 


Q22.
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Q23.
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Q24.
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Q26.
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Q28.
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Q29.
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Q30.
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Q31.
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Q32.
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Q33.
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Q34.
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Q35.
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coordinate or for one coordinate correct
or for (-1.5.9)
6.-15
02n Al Accept (9. f%)
[O) ) 1 BI
© No with 1 B1 No (o) and e.g. line goes through
reason. (100, -298) or (101.3.), ~302) or

[ N
(2%, san or (3 % 100)— 302
L3

not ()2

Total 4 marks
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Q Answer | Mark Notes
(@) 54502 B1
(6) ©.,7) B1
(@) 6x5 M1 | B2for2 < area
30 AL | =31 inclusive if
counting squares
Squarecms orcm® | 3 [ B1 | B1for28 <area
(ind) | <29 031 <area

<32 if counting
squares

Total 5 marks
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Question Working Answer | Mark Notes
Number
@) (45,3) 2 [iel
(b) _[[dentifies 2 & 7 as sides B1
272 + 772 M1 27 & 7" must be
V(272 + v772) identified as sides
7.28 4 |M1dep
A1 awrt 7.28

Total 6 marks,
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Question |Working|  Answer | Mark Notes
@ Kite | 1 |BI
®) single correct 1 Bl  Line drawnat)
line and no other line.
© (6.3) 1 B1 cao
[©) Right-angle 1 Bl Accept “right”

Total 4 marks
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Question | Working | Answer | Mark Notes
Number
@ correct| 1 |81
lines
marked
®) correct| 1 |BI  Marked internally at (1,4)
angle or internally at (1,1)
marked or externally at (1,3
© (a1 1 _[B1
(d) y=1] 1 _[B1
(&) 2] B2 B2 for 112 area £13
B1 for 9< area <11 or 13<
2| 3 area<is

Blindep _accept sq cms etc

Total 7 marks
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Q Working Answer [ Mark Notes
(“2-4)(=1-1)(0, 2)(1, 5)(2, 8) | Conrect line 4 |B4 Fora cormect e between
(G.11)4, 14) between x=-2andx=4

x=—2andx=4

B3

B2

Bl

For a correct line through at
Least 3 of (-2,~4)(-1,-1)(0, 2)
(1, 5)(2, 9)3, 11)(4, 14) OR
for all of (-2.-4)(—1.-1)(0, 2)
(1, 5)2, 9B, 1), 14)
plotted but not joined

For at least 2 correct points
plotted OR for a line drawn
with a positive gradient
through (0, 2) and a clear
attempt to use a gradient of 3
For at least 2 correct points
stated (may be in a table) OR
For a line drawn with a
positive gradient through

(0, 2) OR for a line with the
correct gradient. NB a line
joining

(0,2) 1o (3, 0) scores BO

Total 4 marks
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Q Working | _Answer | Mark Notes
@® .2) 1 |BL
) 3.1 1 |BL
© frapezium, 1 | Bl any recognisable spelln
©0 acute 1 [BI anyrecognisable spelling
(1) 74 1 Bl _accept 72— 76

Total 5 marks
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Q ‘Working Answer | Mark Notes
(a) 2.-1) 1 |B1
(b) parallclogram | 1| B
© DC and 4B 1 | Bl A correct pair of
marked or 4D parallel sides
and BC
marked
&) BCD orBAD | 1 | Bl | Correct angle
marked T marked and no

other angle
marked

Total 4 marks
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Q ‘Working | Answer Mark Notes
@6 G.1) 1 |BI
i) 2.3) 1 |BI
® y= T _|BI
© 3 1 |BI

Total 4 marks
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Question Working Answer | Mark Notes
G.) T [Bl
12) ED
paraliclogram | 1| B
2 T
2k T [MI Acceptany comect
expression.
g Al
(3(2+3).30+2)) 2 [MI  Also award for either x ory
: : coordinate correct
(3.1) Al

Total 8 marks
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Question | Working Answer | Mark Notes
a 3. 1| Bl
b Plotted 1|8l
2

3

Suitable point

BY foreg(.-2).(3.9)

(B for C plotted correctly but
coordinates written incorrectly)

Total 4 marks
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Question ‘Working Answer | Mark Notes
=) T [Bl cao
a
b ‘Shape drawn with vertices (=3, 1) T [Bl co
(CL-1) (14
< 3o’ 2 [B2 for3em’

Bl for 3 : Bl for cm’®

If lengths seen in mm.
Allow BI for 300; BI for
oo’

Total 4 marks
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Question ‘Working Mark Notes
4 | B4 Fora corect line betweenx =
x[2]-1]0]1 —2andx=4
y[10]8 J6]4

B3

For a correct straight line
segment through at least 3 of
(-2.10) (-1.8) (0. 6) (1. 4) 2
2G.0)(.-2)

OR forall of (2, 10) (-1, 8) (0.
6)(1.4) 2.2 (.0) 4. -2)
plotted but not joined

For at least 2 correct points
plotted

BI

For at least 2 correct points
stated (may be in a table) OR

for a line drawn with a negative
‘gradient through (0. 6) OR
a line with gradient =2

Total 4 marks.
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Working Answer Mark Notes

(2~4)(-1-1)(0. | Correct line 4 | B4 Foracorect line between
2)(1.5)2.8) between x 2andx=3
(3. 11)(4. 14) andx=4

=

B3 For a correct line through at least
3 of (-2.-4)(-1.-1)(0. 2)
8)(3. 11)(4. 14) OR for

(1. 5)(2. 8)(3. 11)(4. 14) plotted
but not joined

B2 For at least 2 correct points
plotted OR for a line drawn with a
positive gradient through (0.2) and
a clear attempt to use a gradient of
3

B

For at least 2 correct points stated
(may be in a table) OR For a line
drawn with a positive gradient
through (0. 2) or for a line with
the correct gradient. NB a line
joining

(0. 2) to (3. 0) scores BO

Total 4 marks
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Q ‘Working Answer Mark Notes
@ ) 1| Bl

(®) pomtploted | 1 | Bl _Unambiguous

© ¥=3dmwn | 1 | Bl Minimum 2 cmlong

Total 3 marks
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